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1 AP-989 

B.A. (Part–I) Examination 

GEOGRAPHY 

(Optional Subject) 

(Elements of Geomorphology) 

Time : Three Hours] 	 [Maximum Marks : 70 

Note :— (1) 	Answer ALL questions. 

(2) All questions carry equal marks. 

(3) Credit will be given for suitable sketches, 
maps and diagrams. 

(4) Use of Stencil is allowed. 

1. 	Write in brief : 

(a) Nebular Hypothesis of Laplace 	 31/2 

(b) Nature of Geography 	 3'/2 

(c) Rotation of the Earth 	 31/2 

(d) Paleozoic Era. 	 31/2 

OR 

(e) Pre-Cambrian Era 	 31/2 

(f) The Scope of Geography 	 31/2 

(g) Tidal theory of Jems Jeans 	 31/2 

(h) Definition of Geography. 	 3 1/2 
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2. What is Earthquake ? Give causes of Earthquake and its 
distribution in the World. 	 14 

OR 

What is Volcano ? Give its types and geographical distribution 
in the world. 	 14 

3. Choose the correct option : 

(1) Granite is 	 types of rock. 

(a) Igneous 
	(b) Sedimentary 

(c) Metamorphic 
	(d) None of these 

(2) Coal is a types of : 

(a) Igneous 
	(b) Sedimentary 

(c) Metamorphic 
	(d) None of these 

(3) In which process do not change the characteristic of 
rock without decomposition ? 

(a) Mechanical Weathering 

(b) Chemical Weathering 

(c) Biotic Weathering 

(d) None of these 

(4) Which types of soil is found in the•Deccan Plateau ? 

(a) Laterite 
	(b) Black (Regur) 

(c) Prairie 
	(d) Tundra 
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(a) 	Metamorphic rock (b) 	Igneous rock 

(c) 	Sedimentary rock 	(d) 	None of these 

Which type of soil is -found in Tundra region 

(a) Alluvial (b) Laterite 

(c) Tundra (d) None of these 

is known as Basic Rock. 

(a) Besalt 	. (b) Granite 

(c) Metamorphic (d) None of these 

is a type of Metamorphic Rock. 

(a) Sandstone (b) 	Besalt 

Nise (d) None of these 

(9) Rock disintegration is related to the 	process. 

(5) It is known as Primary Rock 
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(11) It is known as Inorganic Rock : 

(a) Sandstone 
	

(b) Carbonaceous 

(c) Calcareous 
	

(d) None of these 

(12) It is known as Plutonic Rock • 

(a) Igneous 

(c) Sedimentary 

(13) Peat is a type of : 

(a) Limestone 

(c) Shale 

(14) In intrusive rocks vertical wall is known as : 

(a) Laccolith 	(b) Batholith 

(c) Dyke 	 (d) None of these 
14x1=14 

4. Describe the landforms associated with the erosional work 
of river with suitable diagrams. 	 14 

OR 

Describe the landforms associated with Glaciers in details. 
14 

5. Write in Brief : 

(a) Transportation in plains 

(b) Causes of Floods 

(c) Settlements in mountains 

(d) Remedies for the control of desertification. 

OR 
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(b) Metamorphic 

(d) None of these 

(b) Coal 

(d) Dolomite 
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31/2 
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(e) Settlements of plateaus 
	

31/2 

(f) Remedies of flood control 
	

31/2 

(g) Types of Environmental hazards 
	

31/2 

(h) Causes of desertification. 	 31/2 
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